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Topic : Associative Property- Worksheet 1 

Rewrite using the associative property. 

1. b + (c + f) =   

2. 2 + (6 + 4) =   

3. (rt)b =   

4. 6 + (3 + 7) =   

5. q(he) =   

6. t + (c + d) =   

7. (a + 9) + 2 =   

8. (4 + 2) + 3 =   

9. 5(2x6) =   

10. (7 + 5) + x =   
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Topic : Associative Property- Worksheet 2 

Rewrite using the associative property. 

1. 6 + (2 + 8) =   

2. w + (t + r) =   

3. (ht)s =   

4. 2 + (4 + 7) =   

5. b(mn) =   

6. a + (e + f) =   

7. (m + 8) + 3 =   

8. (5 + 3) + 7 =   

9. 2(4x7) =   

10. (8 + 4) + y =   
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Topic : Associative Property- Worksheet 3 

Rewrite using the associative property. 

1. b + (w + t) =   

2. 2 + (3 + 4) =    

3. (ty)q =   

4. 5 + (7 + 4) =   

5. c(lm) =   

6. s + (p +q) =   

7. (n + 5) + 6 =   

8. (8 + 3) + 4 =   

9. 3(5x6) =   

10. (5 + 2) + z =   
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Topic : Associative Property- Worksheet 4 

Rewrite using the associative property. 

1. r + (c + d) =   

2. 6 + (4 + 4) =    

3. (sh)p =   

4. 4 + (5 + 7) =   

5. a(bc) =   

6. m + (n +p) =   

7. (b + 4) + 3 =   

8. (a + 4) + 7 =   

9. 4(2x3) =   

10. (7 + 2) + a =   
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Topic : Associative Property- Worksheet 5 

Rewrite using the associative property. 

1. 5 + (2 + d) =   

2. m + (a + b) =    

3. (rm)s =   

4. 3 + (2 + 6) =   

5. p(as) =   

6. k + (m +n) =   

7. (a + 7) + 4 =   

8. (t + 3) + 5 =   

9. 3(5x6) =   

10. (2 + 4) + n =   

 

  

 

 

 

 


